### Form 604

Corporations	Act	2001
Section 6	671B	3

# Notice of Change of Interests of Substantial Holder

To Company Name/Scheme	CRANE GROUP LIMITED (CRG)
ACN/ARSN	008 410 302
1. Details of Substantial Hold	ler
Name	Suncorp-Metway Limited and its Subsidiaries
ACN/ARSN (if applicable)	010 831 722

There was a change in the Interests of the Substantial Holder on:	19/10/2009
The previous notice was given to the company on:	14/10/2009
The previous notice was dated:	13/10/2009

#### 2. Previous & Present Voting Power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate had a relevant interest in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of Securities	Previous Notice		Present Notice	
	Person's Votes	Voting Power	Person's Votes	Voting Power
Ordinary Shares	6,694,786	8.6179%	7,676,680	9.8819%

#### 3. Changes in Relevant Interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of Change	Person whose Relevant Interest Changed	Nature of Change	Consideration Given in Relation to Change	Class & Number of Securities Affected	Person's Votes Affected
Since	Suncorp Metway Investment Management Ltd	Refer Annexure 2			
Previous Notice	Tyndall Investment Management Ltd				
	New Zealand Guardian Trust Company Ltd				

#### 4. Present Relevant Interest

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of Relevant Interest	Registered Holder of Securities	Persons Entitled to be Registered as Holder	Nature of Relevant Interest	Class & Number of Securities	Persons Votes
		Refer to Annexures	1&2		

#### 5. Changes in Association

The persons who have become associates of, ceased to be associates of, or have changed the nature of their association with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name & ACN/ARSN (if applicable)	Nature of Association
Not Applicable	

#### 6. Addresses

The addresses of persons named in this form are as follows:

Name	Address
Refer to Annexure 1	

## Signature

Print Name:	C. Chuter	Capacity:	Company Secretary
Sign Here:		Date:	21/10/2009

### Annexure 1

Relevant Interest Holder	Registered Holder of Securities	<b>Registration Details</b>	Person's Votes
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (IPT)	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	4,014
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (RSH)	SUNCORP CUSTODIAN SERVICES PTY LTD GPO BOX 5078, SYDNEY NSW 2001	346
New Zealand Guardian Trust Company Ltd	MS STEPHANIE MARGARET WIGGINS & THE NEW ZEALAND GUARDIAN TRUST COMPANY LIMITED	THE NEW ZEALAND GUARDIAN TRUST COMPANY LTD PO BOX 1934 AUCKLAND	175
New Zealand Guardian Trust Company Ltd	FIRTH BARBARA A B AGENCY	THE NEW ZEALAND GUARDIAN TRUST COMPANY LTD PO BOX 1934 AUCKLAND	3,000
Tyndall Investment Management Ltd	NSW BUSINESS CHAMBER LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C 13200-14 NDTYAE 5 <sup>TH</sup> FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	72,285
Tyndall Investment Management Ltd	AMP CAPITAL INVESTORS	AMP CAPITAL INVESTORS LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	1,121,59
Tyndall Investment Management Ltd	CAMBOOYA PTY LTD	TASMAN ASSET MANAGEMENT LIMITED A/C CAMBOOYA PTY LIMITED GPO BOX 5078 SYDNEY NSW 2001	69,181
Tyndall Investment Management Ltd	CATHOLIC SUPER FUND	CATHOLIC SUPER FUND C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	306,711
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD IOOF INVESTMENT MANAGEMENT LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C IOOF INVESTMENT MANAGEMENT LTD A/C 16080-18 IMTYAE 5TH FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	271,827

Relevant Interest Holder	Registered Holder of Securities	<b>Registration Details</b>	Person's Votes
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF MERCER INVESTMENT NOMINEES LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C MERCER INVESTMENT NOMINEES LTD A/C 11120-12 WMTYAE 5 <sup>TH</sup> FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	1,550,124
Tyndall Investment Management Ltd	NRMA TREASURY LTD	JP MORGAN CHASE NOMINEES LOCKED BAG 7 , ROYAL EXCHANGE SYDNEY NSW 2000	54,764
Tyndall Investment Management Ltd	OPTIMIX LTD	OPTIMIX LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	619,370
Tyndall Investment Management Ltd	PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY	TASMAN ASSET MANAGEMENT LIMITED A/C PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	29,086
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF MARITIME SUPER	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C MARITIME SUPER A/C 15579-19 MRTYAE 5 <sup>TH</sup> FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	269,259
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN CORE SHARE VALUE FUND	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN CORE SHARE VALUE FUND GPO BOX 5078 SYDNEY NSW 2001	353,790
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN SHARE INCOME FUND	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE INCOME FUND GPO BOX 5078 SYDNEY NSW 2001	48,124

Aluo BSD

Relevant Interest Holder	Registered Holder of Securities	Registration Details	Person's Votes
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	2,011,762
Tyndall Investment Management Ltd	OPTIMIX INCOME STRATEGY	OPTIMIX INCOME STRATEGY C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	514,891
Tyndall Investment Management Ltd	CAMBOOYA PTY LTD FOUNDATION ACCOUNT	TASMAN ASSET MANAGEMENT LIMITED A/C CAMBOOYA PTY LTD FOUNDATION ACCOUNT	43,042
Tyndall Investment Management Ltd	WILLIAM BUCKLAND FOUNDATION	TASMAN ASSET MANAGEMENT LIMITED A/C WILLIAM BUCKLAND FOUNDATION PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	45,302
Tyndall Investment Management Ltd	WORKERS COMPENSATION NOMINAL INSURER	WORKERS COMPENSATION NOMINAL INSURER C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	230,915
Tyndall Investment Management Ltd	RAC INSURANCE	RAC INSURANCE PTY LTD GPO BOX 5078 SYDNEY NSW 2001	57,115

**TOTAL UNITS:** 

7,676,680

### Annexure 2

PORTFOLIO	TRADE DATE	TRADE TYPE	NET AMOUNT	UNIT PRICE	UNITS			
AMP CAPITAL INVESTORS								
AMPC	15/10/2009	Purchases	672410.2	11.204641	59892			
AMPC	16/10/2009	Purchases	916931.13	11.0566	82761			
AMPC	19/10/2009	Purchases	343996.71	10.8558	31623			
TYNDALL AUS	TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO							
TASWP	14/10/2009	Purchases	649880.16	11.1848	57985			
TASWP	15/10/2009	Purchases	415030.18	11.20464	36967			
TASWP	16/10/2009	Purchases	618300.6	11.0566	55807			
TASWP	19/10/2009	Purchases	266305.65	10.8558	24481			
TASWP	19/10/2009	Purchases	1089363.92	10.76	101242			
<b>CAMBOOYA</b> Ρ	PTY LTD							
CAMB	16/10/2009	Purchases	121606.02	11.0566	10976			
CAMB	19/10/2009	Purchases	43468.71	10.855801	3996			
<b>CAMBOOYA</b> Ρ	TY LTD FOUND	ATION ACC						
VFFF	16/10/2009	Purchases	86717.42	11.0566	7827			
VFFF	19/10/2009	Purchases	30643.48	10.8558	2817			
		NT FUND						
CSRF	14/10/2009	Purchases	100555.75	11.1848	8972			
CSRF	15/10/2009	Purchases	64488.14	11.204641	5744			
CSRF	16/10/2009	Purchases	95990.76	11.0566	8664			
CSRF	19/10/2009	Purchases	40248.8	10.8558	3700			
ΟΡΤΙΜΙΧ								
ΟΡΤΙ	14/10/2009	Purchases	185947.43	11.1848	16591			
ΟΡΤΙ	15/10/2009	Purchases	120612.15	11.20464	10743			
ΟΡΤΙ	16/10/2009	Purchases	181245.71	11.0566	16359			
ΟΡΤΙ	19/10/2009	Purchases	76820.82	10.8558	7062			
IOOF INVESTMENT LTD								
IOOF	14/10/2009	Purchases	84528.69	11.1848	7542			
IOOF	15/10/2009	Purchases	54518.53	11.20464	4856			
IOOF	16/10/2009	Purchases	81720.67	11.0566	7376			
IOOF	19/10/2009	Purchases	34429.05	10.855801	3165			

PORTFOLIO	TRADE DATE	TRADE TYPE	NET AMOUNT	UNIT PRICE	UNITS				
MARITIME SU	JPER PTY LTD								
SERF	16/10/2009	Purchases	465949.61	11.0566	42056				
SERF	19/10/2009	Purchases	166858.47	10.8558	15339				
MERCER INVE	MERCER INVESTMENT								
MERI	15/10/2009	Purchases	888126.65	11.20464	79106				
MERI	16/10/2009	Purchases	1213822.23	11.0566	109558				
MERI	19/10/2009	Purchases	457607.11	10.8558	42067				
NRMA									
NRMA	16/10/2009	Purchases	96433.93	11.0566	8704				
NRMA	19/10/2009	Purchases	31100.35	10.855799	2859				
	,,								
NSW BUSINES	SS CHAMBER LT	D							
ABL	14/10/2009	Purchases	22023.19	11.184799	1965				
ABL	15/10/2009	Purchases	14235.89	11.204637	1268				
ABL	16/10/2009	Purchases	21382.99	11.056601	1930				
ABL	19/10/2009	Purchases	9050.54	10.855805	832				
TOPTI	15/10/2009	Purchases	186469.99	11.20464	16609				
TOPTI	16/10/2009	Purchases	250790.26	11.20404	22636				
TOPTI	10/10/2009	Purchases	163083.79	10.8558	22030 14992				
IOFII	19/10/2009	Fulchases	103083.79	10.0330	14992				
PUBLIC TRUS	TEE OF ACT								
PTACT	14/10/2009	Purchases	7083.28	11.184794	632				
PTACT	15/10/2009	Purchases	4749.05	11.204657	423				
PTACT	16/10/2009	Purchases	7389.86	11.056582	667				
RAC INSURAN									
RACI	16/10/2009	Purchases	15399.41	11.056597	1390				
WILLIAM BUC		ATION							
WBUCK	16/10/2009		75937.29	11.056601	6854				
WBUCK	19/10/2009	Purchases	27184.26	10.855798	2499				
		SHARE VALUE F		44.0566	7005				
TACSVF	16/10/2009		87581.59	11.0566	7905				
TACSVF	19/10/2009	Purchases	36354.45	10.855799	3342				
TYNDALL AUSTRALIAN SHARE INCOME FUND									
TASIF	16/10/2009	Purchases	13018.14	11.056604	1175				
TASIF	19/10/2009	Purchases	7473.22	10.855793	687				

	PORTFOLIO	TRADE DATE	TRADE TYPE	NET AMOUNT	UNIT PRICE	UNITS	
WORKERS COMPENSATION NOMINAL INSURER							
	WCNI	14/10/2009	Purchases	70754.39	11.1848	6313	
	WCNI	15/10/2009	Purchases	45694.08	11.204641	4070	
	WCNI	16/10/2009	Purchases	68658.21	11.0566	6197	
	WCNI	19/10/2009	Purchases	29055.28	10.855799	2671	